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|ldea: bubble highest values to the end of the list; Check a shorter sublist each time
bubbleSort(L):
for len in range(len(L), 1, -1):
for jin range(1, len): # bubble
if L[j-1] > L[j]:

swap(j-1, j, L)



Bubble sort

swap(i, j, L):

temp = L[i] # step 1

L[i] = L[] # step 2

L[j] = temp # step 3
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bubbleSort.py

import swap
i t random
import isSorted

def bubbleSort(L):
Sort the list L in place using bubble sort
Param L (list): the list to sort
Return: None
for end in range(len -1):
for j in range(1l, end):
if L[j-1] > L[j]:
swap.swap(j-1,j,L)
print("swap", j-1, j)

if _ name
I =A11054,370 511781
print("Before:", L)
bubbleSort(L)
print("After:", L, "IsSorted?", isSorted.isSorted(L))




Selection sort and Bubble sort are O(N?)

Time in milliseconds

L sizes from 100 to 2000



